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Directions : Answer the following questions
by selecting the most appropriate option :

1. Present day education cuts off the
man from life because

(1) itis not an integral part of life

(2) it is unable to provide bread and

butter to man
(3) it is unable to provide job to man
(4) it is unable to fulfill the basic

needs of a man

2. According to modern concépt of
teaching, teacher should play mainly
the role of a

(1) Philosopher
(2) Friend
(8) Working partner

(4) Instructor

3. Which source will provide maximum
and up-to-date information about a
subject ?

(1) Encyclopaedias
(2) Internet
(3) Latest academic journals

(4) International conferences

P.T.O.
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4. Some students of your class have

become inattentive; which strategy

would you use to regain their attention ?
(1) A brief physical activity

(2) Suspending the class for

sometime
(8) Asking children to be attentive
(4) Sending the class out for games

When a teacher enters in the class
room for the first time he should talk

about

(1) school building

(2) school headmaster
(3) textbook

(4) himself and students

The education system developed by
Mahatma Gandhi is known as

(1) Basic education system
(2) Vocational education system
(3) Child centred education system

(4) Handicraft education system
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10.

A

. Which of the following acts of the

teacher does not help in creating

proper learning environment ? ,

(1) Providing the children with
feeling of security

(2) G1vmg the ‘chﬂdrlen sense of

freedom - _

Allovring ~children fo criticize

other children

(3)

(4) Maki’ng children fearless

Which of the following is not the
cause of truancy of students ?

1) Uhini:ére,stiﬁg school programme
(2) 'i‘eacherfs partial behaviour

(3) Too much home work

(4) Too nﬁmy holidays .

When a teacher gives the learner the
sense of success, he is using

(1) the law of readiness
(2) the law of practice
(3) the ?Iéw of effect

(4) the law of mental set

According to Naturalism, the centre of
education should be

(1) Teacher
(2) Child
(3) Curriculum

(4) None of the above

~P.T.O.
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A student of your class is in the habit
of telling a lie. How would you deal
with him ?

(1) tell him not to tell a lie

(2) punish him

(3) just ignore him

(4) will take him into confidence and

counsel

The best provision for the education of
the talented children is

(1) Ability grouping

(2) Giving double promotion
(3) Enriching programme
(4) Providing special schools

As per National Policy on Education,
1986 percentage of national production
must be invested on education

(1) 6% (2) 10%

(3) 4% (4) 3%

School administration assigned you
some extra classes which are meant
for weak students. What will be your
reaction as a teacher ?

(1) Protest and not take classes
(2) Request reconsideration of
decision

(3) Tell student to prepare on their

own

(4) Accept it as your responsibility
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17.

A

Study the following statements about

lecturing as a method of teaching :

A. ltis an efficient method of giving
information.

B. It is an efficient way of making
students think eritically.

Which of these statements
correct ?

is/are

(1) A only (2) Bonly

(3) Both A& B (4) Neither A nor B
Before starting to teach a teacher
must

(1) make the students stand

(2) make the
ready

(3) clean the black board
(4)

students mentally

ask the students to keep silence

While teaching if you realize that
what you have taught is not correct,
you would

(1) leave the topic unfinished and
shift to another ‘

tell the students that it was a

mistake and correct it

2)

(3) divert the attention of the

students

(4) Secold students
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Salim is very good in Music but is not
able to do well in Mathematics. As a
teacher of Mathematics, how will you
handle Salim ?

(1) Tell him that Music does not have

a future

(2) Tell him to leave Music and study

Maths
(3)
4)

Call his parents and talk to them

Tell him that he can do well in

Mathematics and explain the

Mathematical concepts to him

A talented child can rot be identified
through observation because

(1

observation is not an objective

technique

(2)

observation  is a
technique

subjective

(3)

observation is used by those who

are expert

(4) Al of the above

While delivering a long lecture what a
teacher should do ?

(1) Should break in between
{2)  Should speak continuously
(3) Should ask questions in between

(4) Should change own posture
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A

A girl of your class is interested in
sports and wants to pursue her career
in sports. What will you suggest
bher ?

(1) Girls have no future in sports

(2) She should put in hard work to

achieve her ambition

Ask her to be focused only in

academics

Girls can not excel in sports as

they are not physically strong

Which is not true about intelligence ?
(1)
(2)

Intelligence is the ability to learn

Intelligence is the ability to solve
problems

(3) Intelligence is the ability to work

hard

(4) Intelligence is the ability to adapt

to novel situation

The most effective evaluation method
is

(1) Annual examipation method
(2) Examination with book method
(8) Semestral method

(4) Objective question paper method
' P.T. O.
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24. fr=fatea = gaﬂ?ﬁ HIfTT 24. Match the following :
A, TIEE TEEI() 39 W A. Slide Projector (i) Visual mean
B. &4 (ii) e e B. TV (i) Audio mean
C. = (iil) gA-HeH T C. Chart (iii) Audio-visual mean
D. A Repex (iv) S&qer e D. Voice Recorder (iv)Projective mean
A B C D A B C D
(1) Gv) (iii) (1) (i1) (1 Gv) (iii) (1) (i1)
2y Gv) (i1) (ii1) 1) (2) Gv) (i1) (iii) (1)
(3) (iid) (iv) (11) (1) (8) (1) (iv) (ii) i)
4) @ (11) (i11) (iv) 4) @ (i1) (1ii) (iv)
25. U ‘AGH YoAiE SIRETE 25. The term 'comprehensive evaluation'
means
(1) S-S iSiatl fepan S (1) Evaluation conducted at several
aTell el T points of time
(2) AR & TH e 2l EZIESIE] (2) Evaluation by a group of teachers
EISIEIE R
(3) T ey & &% T (3) Several test for long duration
(4) feemell F@_’@ & b T (4) Evaluation of curricular & co-
gedaioes oram & i@ﬁﬁ curricular aspects of pupil growth
26. Eﬂﬁaﬁ F HH A SN B arh d 26. The capacity to arrange objects
feia et & 99 98 serially is developed in the child when
be is in
(1) sh=Egefy o 7 & (1) Sensory motor stage
(2) ‘Zﬁ oy oty o & (2) Pre-operational stage
(3) H\é R ot # @ (3) Concrete operational stage
(4) lu=ma Fhar siger 7 & (4) TFormal operational stage
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27. S WERRE @ AEd & agH B 27. For enhancing the ability of transfer
Y 19 @l 7ET LA aneu of learning the teacher should not
(1) '@fﬁb’fﬂ B Aidlied HET (1) encourage self activity
(2) & H ﬂﬂﬁl % Uidfed B (2) encour‘age the habit of rote learning
Q) ¥ 8\ Qe H [T & (3) develop the habit of learning by
insight
(4) MBI 9T W&HT (4) emphasise on generalization
28, W B3 F=AT BEl UK F TG TR 28. When a child mispronounces a word,
AT & ol oY |y By 7 L what will you do ?
(1) FE B o 77 T (1) Tell - don’t say like this
(2) = T=RI ERIpD (2) Tell the correct pronunciation
(3) T ISR F T Iq TA (3) Rebuke the child for wrong
. . pronunciation
(4) = e (4) Ignore
29, 9l Ud TEA A9 H SR B 29. The basis of effective and successful
leadership is
(1) g9 (1) Appreciation
(2) H"T‘f T8 &l feq ‘ (2) The interest of entire group
(3) &@ & e (3) Service of group
4) wd @ fRa v (4) Self interest
30. Al ¥ o8 ARG P qor Y e 30. How the virtue of good citizen can be
Redr o we ¥ ? inculcate among students ?
(1) I oresdl WGl X HINOT 3% (1) By lecturing them on good
‘ citizenship
(2) % U T A R FUEt (2) By familarising them with
v national heroes '
(8) IR _Ffug RIS o (3) By assigiﬁﬁg them some
Efed H community service work
(4) SR 9RAY dieE & o Hee (4) By familarising them with Indian
Constitution
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(12)

AR - I/PART - II
AT - 1 (B=)/ LANGUAGE-1 (HINDD)

31. /=1 & § U &

2
(1) derfee, s, By
(2) =, FBroer, st

(3) Hae, R, aRT
(4) i, e, Al

Bt gsgw | wd ol g
T

(1) SE® - e

(2) 9gd - IeEE

(3) UF JameH FIOH - T
(4) W& Al - WY e

qiy’ & @d ®

(1) =0t &1 A (2) A
(3) T WElE  (4) ST

' g @ Wi a= g
1) & (2) T
(3) &M (4) Yo
-1 9 Qe 7@ e ?

(1) w7 (2) S

(3) ¥ (4) S
oy srifata e @ geHT RE T8 FE
(797 o 36-39) & FuT waW IT FAEA
T PR ge T e H R, SE-Hst
Fraeat A R AR ArEl-Hg Hraens &
ER qERT OF ST O hiued B e, &
oF T a9 § Freifad ¥, 9 @ A 8

Tt T B S

32.

33.
34.

35.

Cat.-3/43

goge ol R MY W 9T ¥ SR SE B o
# ot R ®? o 9@ ¥ R gedde 3
‘G B G T AT FE SR e § &
T W SR HA H HRd pEE’ dw wd ¢

=0 3 A & 8, Qe # U e
g A e Ay ¥ Ry @ - MW F
A e (B I T OgHe 9 @A) Al
dam, ted @ ol Ham av # gu @
R, e gT, IO Ul oI T R, W A
Fg B QN ? Mg @ 36 AR A § @
T oTied & Sodl g, Qsad Y FEted &
g S §1 PR A dw oW @ g
so@ fetes Ted @ a1 21 B @ & 4
war £ & well w A & A ¥, 3 gE
¥ & W oaed ¥, W oy kel &
08 @ siewdl g gffer s oiffel A s
£ @ HnE H W S B 98 S ¥ SN
deEar 9 Rewy Ol g e @l g A
gl AR A R 21

36, ‘gFfar’ @ P &

(1) e (2) X

(3) STAH T . (4) WS TS
e & el R

(1) gaf o P @

(2) 3@ T G@ A Bl e
(3) PRax i & |
(4) vgdaEr F R B

37.



38.
(1) sga aﬂsnalél &
(2) Sgd FRIERD 8
(3) sga ¥dam B
(4) TgA SR &

39. ‘G 9y GEAT #1919 B
(L & T B g
(2) |9« g0 & g
(3) oregwd U@Ed g

@) v § ¥ A

R3sr : st werar # gewT B9 7/2?#96?
(797 Ho 40-44) % T @EG TG AFET

FTHC AT -

iy a89<r & srve @ WY wed oar B,
NG q6 @ FiREd w9 ¥ Awd o @ ¥
T W A wE § O Fefa o @@ ¥
T TR Rl el omyg @ iRy g @
TN bl HEITER A e &1 Rl g
e Wi | 95T HFw AT R g Ry @
G B PAA TEHRT WA FeA q qE B
- IEH WY FP FEG | T YT T WD o
T Ao B ¥ R T g & P o ®
W T T B | I o W O W e
afFAY 3 e T aX I 99 9% 3 s
®l BT B TN 3 @i wE ar
Feelt g0 ¥ R i wd R, By @

I & g v @eEeh el B g e

3EH I ARl # O A o R, o Rl
SR S H GG T e o S @ a4l
N & T T gIR ARG BB A 2 a9
% S Ed 2|

Cat.-3/43

(13)

A.

| 8 A g B g @ e ol R
E W e g & ST ? o ok g, 3

Y | qOERE Y oThE B W e g
X T ol — o @ e qd g o
LU vﬁwa‘rgmml”

S BT A OERr ﬁgﬂ'&h‘q’r&r%maﬁr
e e R 7

(1) e = s qT'v.
(2) Sew @ fFreaRar @)
(3) g %l HOHIRAT W

(4) SWgFR @ W

Hepd wifee § A Pivw A T § 7
1) Ry & wet @

2) R & o=t &

(3) Ry & @& it

(4) Rl @i st & |
Tl & faam R

(1) oMy (2) e

(3) frmy (4) wE

T F STGAR el b W gerei @
1) Rl & wa

2) Rl & o

(3) TE B Y

(4) TOHe A F

Ry g1 1 o B @

(1) S ¥ (2) o #
(3) ek # (4) 9 #-

40.

41.

42.

44.

‘P.T. O,




45.

486.

47.

48.

48,

50.

51.

52.

ol by & STER e wrsl W e
B T |
(1) SO, ST, S, SiEd
(2) Aeq, TR, TS, Tl
(3) U, S, SEd, FEEE

(4) Sredl, S, S, S

B T H Hs WO dgael € ¢ §E
frde § =9 §eg oiaa &) 3@ifed 9% d
T B

(1) AFRaEs:  (2) WEaEd
(3) TfrEreh  (4) RN qrEE
‘T + g A o B

(1) e (2) s

(3) = (4) =
TRl o T €
1)+ 9 (2) 9 + I + &
3 ST+ 7 (4) S+ 7T+ A
‘g’ # IR §

(1) 9 (2)

(3) % (4) v

fer & & Tl @t gfe ® g 1= g
(1) T (2) §IEi

(3) FEAEHI (4) TGAART
B w=r & ot T WE WE B
(1) feo, i, T

(2) oy, e, 9

(3) o9, ore, ey
(4) o7, B3, TR

THERT H T §
(1) gy (2) &8
(3) sgelie (4) FEAHE

(14)

53.

54.

55.

56.

57.

58.

59.

60,

B T g & e sha quikerEn 9o
[

(1) AR (2) afan

(8) et (4) grar

[ e A gEER H A ¥

(1) TR g 8

(2) TRER st &

(3) TR AT B
(4) TCER $=5f B

Pi-ar ae s aem JE e ?

(1) S ged el & [ STen |

(2) TF ST @0 o AR A A
(3) gH Ay ofE & i gH Al o
(4) AT Gad B HET A & Bl

T B A WE g A W ®
(1) URamE A1 B

(2) A9 B

(3) &R W& &l &

(4) fafet &

frer o @ g aof B

(1) & 2) 3

(3) = 4) 1
‘Peare” & Gi-faese §

(1) ¥ + I (2) T + Ieaed
(8) T + IeET (4) W + G

‘T g oo g

(1) I (2) YIS
(3) JEQ (4) TR
Frer gl & § a9 9 3
(1) e (2) &
(3) W&l 4) %

Cat.-3/43



(15)

HET - I/ PART - IIX
IS - I ({30 / LANGUAGE-II (ENGLISH)

61.

62,

63.

'He hardly works.'

The underlined word means

(1) arduously (2) mostly

(3) scarcely (4) strenuously

Choose the correct word for the
following phrase :

'Fear of foreigners'
(1) Hydrophobia
(2) Xenophobia

(3) Homophobia

(4) Claustrophobia

Give one word for ‘That which can be

eaten.’
(1) edible (2) chewable

(3) palatable (4) digestive

64. She had a headache; otherwise she
............... with me
(1) would come
(2) would have come
(3) came
(4) will come
Cat.-3/43

65.

66.

67.

68.

69.

Which sentence is incorrect ?
(1) Ileft without any one knowing.

(2) I hope you will excuse my leaving

early.

(3) As he was going up the hill, he

saw an old temple.

(4) I dislike your behaving in this

way.

Complete the given sentence :

'The human body is like an engine. It

requires fuel to ......
(1) work (2) keep it going

(8) runfrom (4) keep it on action

He ............ not oppose me.
(1) dare (2) dares
(38) did dare (4) was dare

Choose the correct Article for the
blank :

'‘Give me ........ yellow teapot which is
on the table.'

(1) a (2) an

(3) the (4) Zero article
They told me thathe ........ in Jaipur.
(1) were (2) waé “

(3) will be (4) can be

P.T. O.




70. His score is higher than .........
(1) you (2) yours
(8) your (4) yourself

71. Choose the correct Pronoun for the
blank :
'He is the only person ........ can help
you.'
(1) who (2) that
(3) he (4) which

72. Choose the correct Preposition for
the blank :
'‘One must abide ........ one’s promise’.
(1) in (2) by
(8) for (4) to

73. lhavebeenhere............... Monday
(1) from (2) since
(3) for (4) till

74. Change the Voice of the following
sentence :
‘We were let go.’
(1) They let us go.
(2) We were let to go.
(3) They were let us to go.
(4) Let us go.

75. Which word is wrongly spelt ?

(1) believe (2) relieve

(3) brief
Cat.-3/43

(4) decieve

(16)

Directions : Read the passuge given below
the that  follow
(Q. Nos. 76 (o 85) by sclecting the most

appropriate option :

and answer questions

Conversation is indeed the most easily
teachable of all arts. All you need to do in
order to become a good conversationalist is
to find a subject that interests you and your
listeners. There are, for example, number
hobbies to the

important thing is that you must talk about

less tack about. DButl
the other fellow’s hobby rather than your
the of

popularity. Talk to your friends about the

own. Therein lies secret your
things that interest them and you will make

your reputation for good fellowship,
charming wit and a brilliant mind. There 1s
nothing that pleases people more than your

mterest in their interest.

It is as important to know what
subject to avoid, as what subjects o sclect
for good conversation. If you don’l want to
be set down as a wet blanket or a bore, be
careful to avoid certain unpleasant topics.
Avoid talking about yourself, unless you are
asked to do so. People are interested in their
problems, not in yours. Sickness and death
bore everybody. The only one who willingly
listens to such talk is a doctor, but he gets
paid for it. To be a good conversationalist
you must know not only what to say but how
it. Don’t

overemphasize your own happiness.

to say Be civil and modest.
Be
mentally quick and witty, but don’t hurt

others with your wit.



Finally, try to avoid mannerism in your

conversation. Don’t bite your lips, or click

your tongue, or roll your eyes, or use your

hands excessively as you speak.

76. The secret of your popularity lies in
(1) cultivating good hobbies
(2) being able to converse about what
1s of interest to the listener
(3) having a knowledge about a large
variety of hobbies
(4) talking about your hobby
77. The secret of becoming a good
conversationalist is
(1) talking about problems
(2) avoiding mannerism in
conversation
(3) wusing your wit
(4) knowing what to say and how to
say it
78. A doctor is the only one who readily
listens to conversation about sickness
because
(1) itis his job and he earns from that
(2) he is not interested in anything’s
else
(3) sickness and death interest
everybody
(4) he is a kind person
Cat.-3/43
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79.

80.

81.

82.

A

Courtesy and politeness are
recommended through which word in

the passage
(D
(2)
(3)
(4)

willingly
civil
overemphasize

None of the above

To become a good conversationalist,
you need to

(1)
(2)
(3
4)

find a good teacher
find an interesting subject
practice the art of conversation

converse about what you and the
listener find interesting

You should avoid talking about
yourself because :

(1)
(2) it
unpleasant

you are a bore

will make you appear

(3) you don’t know how to choose the
subject of a good conversation

(4) people are not interested in you

‘or your problems

‘Mannerism’ in the passage means

(1D

not hurting others with your wit

(2)

having good manners

(3)

gesture or way of speaking typical
to a person

(4) using polite language




83.

84.

85.

86.

Which word in the passage is the
opposite of ‘arrogant’ ?

(1
(2)
3
(4)

witty
mentally quick
conversationalist

modest

What pleases people most is

(1) your  reputation for  good

fellowship
(2)
(3)

your clever use of language

your taking interest in what is of
interest to them

(4)

your brilliant mind

Which word in the passage means to
strongly stress that something is
particularly important ?

(1) overemphasize
(2) mentally
(3) excessively

(4) mannerism

after ten years in the

business.
(1
(2)
(3)
4)

wise
wisest
more wise

wiser

(18)

87.

88.

89.

90.

Choose the correct Adverb for
blank :

the

‘The sun ........ rises in the east'.

(1) sometimes

(2) often

(3) always

(4) rarely

The dumb ............ not speak.
(1) has (2) does
(3) is (4) do

Choose the correct Phrase for the
blank :

'The craft in which I sailed rapidly

.......... the open sea.’

made out

(1)
(2) made up
(3) made for
made off

(4)

......... he is satisfied with

his situation.

He 1s poor,

(1) yet (2) but

(3) so (4) while

Cat.~3/43
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TR - IV /PART - IV |
TR 31871/ PHYSICAL EDUCATION

91.

92.

93.

94.

HFRAS 3T
(1) =

(2) ST
(3) e

(4) warTET

syfoies arliie e & fer weaa §
(1) S FEe

(2) T 9IS IHS

(8) WY R

(4) FrR-dl-gaaies
EHYAT AT B

(1) 8 st &
(2) el ARl @
(3) Tl sAferatl
(4) 3 A Relt @1 78

T @ o (elem) B woan wam
HT TeT

(1) affo 3o THo

(2) g aH
(8) 9% qF
(4) SR gt

Cat.-3/43

91.

92.

93.

94,

Meditative Asana is
(1) Vajrasana

(2) Dhanurasana
(8) Halasana

(4) Sarvéngasana

Who was called the Father of Modern
Physical Education ?

(1) John Youngman

(2) Johan Bernhard Basedow
(3) Father Didon

(4) Pierre-de-Coubertin
'‘Scapula’ is the example of

(1) Short (small) bones -

(2) Long bones

(3) Flat bones

(4) None of these

What is used for dehydration ?

(1) O.R.S.
(2) Lemon water
(3) Pure water

(4) Al of the above




A

95. fafas Gat § Rt X g & WA

96.

97.

98.

99.

Aeq Sia gH & !
(1) T 91X
(2) & AR
(3) 9 R
(4) UrE AR

S B ©
(1) Idoih
(2) a6
(3) I
(4) A=

T b e Reed A e AR
e hare ol ©

(1) e e
(2) ofsiierT e
(3) sweR e
(4) g f¥iE

U qE’ A S § 7

(1) 99 15 P %
(2) 20 ¥ 265G T
(8) 8% 14 Ta= T%F
(4) 67 12 T TH

TY @ TR wory 9ol @
(1) o€ &

(2) ewETg (Peh ¥ FAK o) B
(3) St &

(4) <01 A

Cat.~3/43
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95.

96.

97.

98.

99.

India has won medals in wrestling in
Olymic Games

(1) Once

(2) Twice

(3) Thrice

(4) Five times

Sedatives are
(1) Stimulants
(2) Depressants
(3) Catalysts
(4) Protein

Which of the following Hockey player
wrote the book 'Golden Hattrick' ?

(1) Pargat Singh

(2) Ajeet Pal Singh
(3) Balbir Singh

(4) Prithvi Pal Singh

When the
celebrated ?

"National Week' 1is
(1) 9th to 15th August

(2) 20th to 26th January

(3) 8th to 14th November

(4) 6th to 12th April

Strongest muscle of the body is
(1) Jaw

(2) Forearms

(3) Thigh

(4) Shank



100.

101.

102,

103.

104.

(1) 1930 ¥
(2) 1935 #
(3) 1936 7
(4) 1937
fer 8 9 engsgﬁ; HAERE  qET
BT & 7 P

1) a5t

2) vg-9E

(3) A

- (4) S G+
'W%ﬁ%memm

32

(1) 34.92°
2y 27°
(8) 87°
(4) 29°

q & GF HEEE # OEEE e R

(1) XX (@) XY
(8) ¥ad X 4) T Y

e, sy, wiead M arF §
(1) s IR |

(2) SleraE Hiel |

(3) Auh q9F |

@) = J B @

Cat.-3/43
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100.

101.

102,

103.

104.

Pierfé"de-Coubértin died m .
(1) 1930
(2) 1935
(3) 1936
(4) 1937

Which of the following is the natural
resource of air purification ?

(1) Rain

(2) Vegetation

(3) Ozone

(4) All of the above

What is fhe anglé of throwing sector
of Javeline ?

(1) 34.92°
@ 27°
(3) 87°
(4) 29°

The structure of the sex chromosome

of mother 1s
1) XX (@) XY .
(3) onlyX (4) onlyY

Citius, Altius, Fortius is related to - -
(1) Olympic inauguratioh .

(2) Olympic motto -

(3) Olympic closing

(4) None of these




105,

106.

107.

108.

109.

‘PG B AT F FE & 7
(1) 2 9%
(2) WSS 9%
(3) WA %
(4) % &=

2 SR H G B
(1) do S FE& 9
(2) eEegT el |
(3) QT @9 T °
(4) T 9 B9 aE

BHEl P SAEAIT &
(1) < 57
(2) Wiwitgaa
(3) wiwad
(4) TSz

-SRI
(1) e A

(3) g H
Wfﬂ%ﬂﬂﬁ"ﬂﬁﬂﬁ%?

EIO S

(2) gl ®

(4) ®E H

(1) &H 3

(2) g |
(3) Frde @
(4) 2w 9

Cat.-3/43
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105.

106.

107.

108.

109.

"The another name of 'kyphosis' is

(1) Hollow back
(2) Round back
(3) Lateral back
(4) Back curve

2nd October is associated with
(1) Pt. Jawahar Lal Nehru
(2) Lal Bahadur Shastri

(8) Lala Lajpat Rai

(4) None of these

Covering of lungs is of
(1) Plural membrane
(2) Perichondrium
(3) Peritoneum

(4) Pericardium

Birth of Barron-de-Coubertin took

place at

(1) Germany (2) Italy

(3) Greece (4) France
From which 'Santosh Trophy'

- related to ?

(1) Hockey
(2) Football
(38} Cricket

(4) Tennis



(23) ’ A

110. UTA gafeg 2 . 110. 'Alveoli' is related with
(1) @ed & 9 | (1) Respiratory system
(2) SRy der 9 ‘ (2) Skeletal system
(8) Ieaw Heqe o (3) Excretory system
(4) TREER €99 9 (4) Blood circulatory system
111. Adfus o § fedw @ B arrfqar 111. When Football was included in
fepar T ? Olympic Games ‘
(1) 1900 §  (2) 1904 H (1) 1900 (2) 1904
3 1908% (4 19127 (3) 1908 4) 1912
112. 9GO & 79 T b=t Afea affos 112. How many women players of India
al § qge Sid gzﬁ g7 have won medals in Olymplc Games
: till now ?
(1) TF i (1) One woman
(2) & A (2) Two women
(8) o Afewd (3) Three women
(4) =X A (4) Four women
113, F= 8 & B9 wem olafas wed o 118. Who is the first medal winner in
?7? , Olympic game from the following ?
(1) foorz R (1) Vijendra Singh
(2) A= &= (2) Abhinav Bindra
3) 3. 3. T | . (8 K.D.Jadhay
(4) &I I | (4) Dhyan Chand
114, IEE Y& Gha L & 114. The virus rhabdo infects
(1) E1g &% T a1 aty Bl (1) Nervous tissues & salivary
glands
(2) % H | (2) Liver
(8) & & (3) Kidney
(4) T 9 5% &l (4) Heart & lungs |

Cat.-3/43 P.T.O.




115.

116.

117.

118.

119.

‘TR I P S [hd a4l & A
WEEe?

(1) =i

(2) BIESiEr

(3) @i

(4) B

e & fra el 3 sliarus @l
T g @of e S 7

(1) SR ek
(2) TWHo SIFEH
(3) ¥ afE
(4) A& e

ArEel & gidEs §
(1) @ e
(2) T= SRTReT

(3) STER HgSl
(4) Gt

I of @ ed o
(1) ff

(2) s

(3) fevr-aiT

(4) SYUF g4l

WK gwgo o o FH WG &

&

(1) 1947 H
(2) 1948 H
(3) 1950 H
(4) 1960 ¥

Cat.-3/43
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115.

116.

117,

118.

119.

'Hygiene' word derived from the
name of Goddess

(1) Hyija

(2) Hygenia

(3) Hygeia

(4) Hygenik

Which of the following American
player won seven medals in Olympic
Games ?

(1) Justine Gatlin
(2) M. Johnson
(3) Randy Branes
(4) Mark Spitiz

The propounder of 'Yoga Philosophy' is
(1) Swami Ramdev

(2) Acharya Bal Krishna

(3) Acharya Pradyumnji

(4) Patanjali

Table Tennis was used to be called
(1) Pingpong

(2) Ding-dong

(3) Bing-bong

(4) All of the above

When was W. H. O. established in
India

(1) 1947
(2) 1948
(3) 1950
(4) 1960



(25) A

120. I, wligr qur ot § ... 120. ... capillaries are found in Liver,
BB T A ¥ Spleen, Bone-marrow.
(1) MY B (1) Continuous capillaries -
(2) BILeE BRHT : : (2) Fenestrated capillaries
(3) fagdssa fmeed (3) Sinusoidal capillaries
4; 7 gt (4) All of these
121. HgIH fred Tt 2 121. Contusion is associated with
(1) wieusit (1) Muscle
(2) femmee ~ (2) Ligament
(3) 3Ry (3) Bone
(4) T & (4) None
122. waARA wefeam & EN Pt 2 122, Malaria is caused by plasmodium
S| AU TR BT B which is of .......... types.
(1) &= (2) IR (1) three (2) four
(3) U= 4 ® (3) five (@) six
128, =1 § @ 3-dE d9d @ RRe 123. Name the disease which is known as
A er T R 7 'psycho-somatic' disease ?
(1) sEfds (1) Diabetes
(2) SreHr (2) Asthma
(3) &F [T (3) Tuberculosis
(4) 9% _ (4) Small pox
124. %% qET o U H TN H q 124. Excessive consumption 6f ethanol
GXE & o causes damage to
(T @ @ (1) Kidneys  (2) Liver
(3) BHS (4) &4 (3) Lungs (4) Heart

Cat.-3/43 , P.T.O.
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125. o dio & FHET H YE=I 125. The bacteria of T. B. was identified
by
(1) T P A (1) Robert Koch
(2) e S F (2) Robert George
(3) Tac 39 A | (3) Robert Eyan
(4) = A FE T TR (4) None of these
126. ‘T8 U B 8 126. 'Charas' is obtained from
(1) Gl & (1) Canabis
(2) tfREE | (2) Erythroxylon
(3) g A (3) Papaver
(4) FEfesT 8 (4) Nicotiana
127. €7 3g FFE wpRd JAN I § 7 127. The alcohol used for drinking purpose
sl
(1) e T (1) Ethyl alcohol
(2) fremssr Tehle (2) Methyl alcohol
(3) SHEAATET CeHled (3) Isopropyl alcohol
(4) TR T (4) All of the above
128. WHEME T B FERAT ﬁ?—#ﬁ g7 128. Which is the stage of communicable
disease ?
(1) Ig¥a-d gty (1) Incubation period
(2) GW CCIb] (2) Invasion period
(3) &1 Jrary (3) Decline period
(4) IR el (4) All of the above
129, @M & gedlE  SRYfUET 9y @ 129. What is the effect of exercises on
e B § 7 human skeletal system ?
(1) T ¥ gi& (1) Increases in length
(2) Sig & TG AHT 4 gix (2) Increases in strength
(3) Sl ¥ o=h (8) Flexibility in joints
(4) 7 g4 (4) All of these

Cat.-3/43



1.30.V,#Rﬁzﬁfﬂﬁﬁ'@33ﬂqﬂ§
(1) T &R
(2) RTEE JTERR
(3) wgH fergmer
(4) Tl it @a
131, 5w M@ A9 ) € o &
(1) 70 I
(2) 76
(3) 80 AW
(4) 82 I
132, A ¥ O Ao § gHew e § JFA
3 T U & =iRe P
(1) A OHT B =y
A(z)ﬁmm@maﬁq
(3) G H1 WEE FEM N AMY
(4) O SR oyl T BN =Ry
138, R & § A o ‘onem dm @
TR ? v
(1 T\ (2) |
(8) ST (4) 9ty
134. ‘wRoe wRwer Ry ame ik ¥
Q1) T
2) i
(3) dmed
(4) TEsfear
Cat.-3/43
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130.

131.

132.

133.

134.

A

The highest sports award of India ié
(1) Arjun Award

(2) Dronacharya Award

(3) Padma Vibhushan

(4) Rajiv Gandhi Khel Ratna

‘Height of the Table Tennis table is

(1) 70cm
(2) 76 cm
(3) 80 cm
(4) 82cm

What measures should be taken in
school to avoid the injuries in sports
ground ?

(1) Play ground should not be in
level

(2) Play ground should be in level
(8) Sports articles should be costly
(4) Coaches should not be experienced

Which among the following is not a

stage of 'Ashtang-Yoga'
(1) Yam (2) Niyam
(3) Atma (4) Samadhi

In human body 'Fartlek' training

. method develops

(1) Speed
2) Agility
(3) Strength

(4) Endurance

P.T.O.




135.

136.

137.

138.

139.

e fem o J2ed B
(1) i feepra

(2) ot o Gegel R
(3) gie A R

(4) TOUF w4

fre e @ @ HH A T B o B
T WS Bl § 7

(4) &0

aMafas 8 2012 &l e 7

(1) efedier (2) e

(3) THIKSH (4) 9d

BA1, 800 Ho ds, 200 Ho AT, 100
o ggw () Ae ~ FFed gefaa @

(1) Ferdm  (2) e

(3) FUAA (4) SHEAEE
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(28)

135.

136.

137.

138.

139.

The aim of Physical Education is
(1) Physical Development

(2) All-round Development

(3) Growth & Development

(4) All of the above -

Burning feet sensation occurs due to the
deficiency of which nutrient element ?
(1) Vitamin A

(2) Vitamin Bg

(3) Vitamin Bj

(4) All of these

With which 'Patella’ is related to
(1) Knee

(2) Thigh

(3) Wrist

(4) Shoulder

Olympic Games 2012 will be
organised by
(1) Atlanta (2) London

(3) Amsterdam (4) India

Long jump, High jump, Discus throw,
Javeline throw, 800 mts Race, 200
mts Race, 100 mts Hurdle Race is
related to

(1) Pentathlon (2) Heptathlon

(3) Marathon (4) Decathlon



140.

141

142,

‘143.

144.

145.

TR & SR Al B

(1) %
@) o % Il

(3) &
4) &I

TRl & AN Y el §
(1) Yo (§rE) FRE & FR
(2) FIE SESTFTRES B HIOT

(3) TENE B PR
(4) Afesd e F RO

(1) o=1% ¥

(2) HiTHEm |

(3) ge |

(4) Smps o

i gl @ IR §
(1) REe sE<

(2) T saE=e

(3) d@ Us Hide SR<
(4) Ved =E<

e g e g9g oo @y
AT B

(1) ST 10 s

(2) I 16 e

(3) T 20 SIS

(4) TTHT 25 GRIId

HREFEA S @AM H T 1968 H
e B fomibe e mar 7

(1) TR w9 8/

2) 99 7

(3) Je® B

(4) @5 &

Cat.-3/43
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140.

141.

142.

143.

144.

145.

This is pear shaped sac
(1) Liver

(2) Gall bladder

(3) Kidney

(4) Heart

Fatigue comes during training due to
(15 pH (alkaline) Factors

(2) Carbon dioxide

(3) Adrenal

(4) Lactic acid

Where is 'Eden Garden’
(1) Chennai

(2) Kolkata

(3) Mumbai

(4) Bengaluru

Neck joint is the example of
(1) Pivot joint

(2) Hinge joint

(3) Ball & Socket joint

(4) Saddle joint

At the time of exhale the quantity of
Oxygen is |

(1) about 10%

(2) about 16%

(3) about 20%

(4) about 25% .

Isokinetic exercises were developed in
1968 by

(1) Bikila Coach

(2) Perrine

(8) Zetopack

(4) None

P.T.O.




146

147,

148.

149.

150.

e ¥ Risg @red e #OFE 8

(1) enfe ORERIVE
(3) T (4) 7 Rl
e @ e A 2

(1) SHD

(2) ITH

(3) dIfeeRTE

(4) BRI HE Rl

‘GETET W A © 7

(1) I ey 7oigy B B
(2) S=d T & WX I
(3) HAMES aTE H IHARH
(4) SR A

PA-Y GF awd B P A FNAH
AEeE U BT §

(1) fererss
(@) FEEEgcd
(3) WA

(4) @i

e el B G8 9% T aid I & bed
g7

(1) arElss

(2) URrdifeq

(3) <areT

(4) Hg T8

(30)

146,

147.

148,

149,

150.

"W. H. O." office is situated in Asia at
(1) Beijing (2) Rawalpindi

(8) Seoul (4) New Delhi

The sleeping pills are
(1) Depressants

(2) Stimulants

(3) Barbiturates

(4) Hallucinogens

What

‘Shavasan' ?

are the  benefits of
(1) Nervous system becomes strong
(2) Control on High Blood Pressure
(3) Relaxation in Mental Tension

(4) All of the above

With deficiency of which nutrient

element oceurs the disease

Kwashiorkor

(1) Vitamin
(2) Carbohydrates
(3) Protein
(4) Minerals

The valve on the mouth of Trachea is
called

(1) Thyroid

(2) Epiglottis

(3) Trachea

(4) None

Cat.-3/43



